Untitled April 28, 2008

Reminders 04-23-08:

-Exam 3 Average 65.0%
-Exam 4 Monday May 5
-Final Exam Wednesday May 7

Outline:

-Line Spectra and the Bohr Model of Atom
-Franck-Hertz Experiment

-DeBroglie Waves
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 What should the energy of photons be
be so that the maximum change in
wavelength due to Compton scattering
by electrons is 1%?

— Using these photons, what is A\ in
angstroms for Compton scattered photons
at 60°?

— What is the energy of the recoil electrons
in this case?
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E=K+U-= - (1)
>F =ma— = (2)
Use (2) to get K =

Use that result substitute into (1) to get

E=_ (3
Solve (2) for v2 =

Solve the quantized L for v =




